alphal3_4eX1X

0.03F

0.025

0.02

0.015

0.01

0.005

-0.005

alphal3_4eX1X:cyclenum {run == 8297}

E T Koo e
— ------------ [ Peeeees x

Py ST I I PR PR i i
11078 110785 11079 11079.5 1%%0 11080.5 11081

cyclenum

delta46_12X4eY:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

0.25

AIPNA4O_4e Y 4d Y

0.2

0.15

0.1

0.05

8299

3298.5

8298

3297.5

8297

3296.5

8296

3295.5

8295

alpha46_4eY4aY:cyclenum {run == 8297}

1 |ﬁ
11078 11078.5 11079 11079.5 17030 11080.5 11081

cyclenum

run:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

deltal3_lzx4ex

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 8297}

L il RN FEEE AEEEY REEE R
11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

segment:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum




usl_4eY

20

15

10

usl_1X:cyclenum {run == 8297}

E K N SR R X
S I I T T B R
11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum
usl_4eY:cyclenum {run == 8297}
[ X :
K * N N >K

P P I T Y i i
11078 110785 11079 11079.5 11%%0 11080.5 11081

cyclenum

o

SI
4
wn

usl_4ay

usl_4aY:cyclenum {run == 8297}

R .

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

usl_12X:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

8299

3298.5

8298

3297.5

8297

3296.5

8296

3295.5

8295

usl_4eX:cyclenum {run == 8297}

L 11 |K
11078 11078.5 11079 11079.5 1¥080 11080.5 11081

cyclenum

run:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum



-100

-120

i
)

usr_4deY

i
o

=
N

10

usr_1X:cyclenum {run == 8297}

11078 11078 5 11079 1107951

1080 11080.5 11081
cyclenum

usr_4eY:cyclenum {run == 8297}

11078 11078.5 11079 11079.51

|&
011080.5 11081

cyclenum

usr_4ay

usr_12X

=

0.5

usr_4aY:cyclenum {run == 8297}

obi i iy i i
11078 11078.5 11079 11079.5 1%@0 11080.5 11081

cyclenum

usr_12X:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

usr_4eX:cyclenum {run == 8297}

usr_4eX

O'.|....|....|....|....%§' i i
11078 11078.5 11079 11079.5 1¥080 11080.5 11081

cyclenum

run:cyclenum {run == 8297}

8299

3298.5

8298

3297.5

8297

3296.5

8296

3295.5

SO N T T P PP TP T
11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum



usl_coill:cyclenum {run == 8297}

18000 - -5 -----4------ oo teeee e
160005— Ko * ------------ X.
14ooof—-w ------------- ------------- ------ B
120005—-“ ------------- ------------- TEEREER e
100005 ;
sooof—--- ------------- FRRPR e B
sooof— -----------------------------------------------
40005
zooof—--;------: ------ R P Feeeeed

R SSTUOTS PUPUR TP PP IOE PO

11078 11078.5 11079 11079.5 11080 11080.5 11081

-2800

-2850

-2900

—-2950

-3000

cyclenum

usl_coil6:cyclenum {run == 8297}

e =
X

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

12500

2000

1500

1000

500

2600

2500

2400

2300

usl_coil3:cyclenum {run == 8297}

1 |ﬁ
11078 11078.5 11079 11079.5 17030 11080.5 11081

cyclenum

usl_coil7:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

4000

3000

2000

1000

8299

3298.5

8298

3297.5

8297

3296.5

8296

3295.5

8295

usl_coil4:cyclenum {run == 8297}

L 11 |K
11078 11078.5 11079 11079.5 1¥080 11080.5 11081

cyclenum

run:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum



—-2000

—-4000

-6000

-8000

10000

12000

14000

16000

-2800

-2850

-2900

-2950

-3000

-3050

-3100

usr_coill:cyclenum {run == 8297}

it K

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

usr_coil6:cyclenum {run == 8297}

X o o
R A S
5 X

e
NI AREEE FEENE FREEE FEENE FRE S R R

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

-500

-1000

-1500

—-2000

35600

35400

35200

35000

34800

34600

34400

34200 F

34000 [

33800

usr_coil3:cyclenum {run == 8297}

X

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

usr_coil7:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

3000

2000

1000

8299

3298.5

8298

3297.5

8297

3296.5

8296

3295.5

8295

usr_coil4:cyclenum {run == 8297}

L 11 |K
11078 11078.5 11079 11079.5 1¥080 11080.5 11081

cyclenum

run:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum



-100

-120

-140

-100

-150

-200

-250

1X_coill:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

4eX_coill:cyclenum {run == 8297}

e e PR [A— -

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

4eX_coil3

|
4l

-10

-15

1X_coil3:cyclenum {run == 8297}

T T I i i
11078 11078.5 11079 11079.5 1%@0 11080.5 11081

cyclenum

4eX_coil3:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

248

n
)]
=]

4eX_coil7

262

260

258

256

254

1X_coil7:cyclenum {run == 8297}

AR T P PR P N ST
11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

4eX_coil7:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum




4ay_colla
w
o
o

250

200

150

100

50

4eY_colla
w
o
o

N
13
o

200

150

100

50

4aY_coild:cyclenum {run == 8297}

IR

P P I T R i i
11078 110785 11079 11079.5 1%%0 11080.5 11081

cyclenum

4eY_coild:cyclenum {run == 8297}

P P I T Y i i
11078 110785 11079 11079.5 11%%0 11080.5 11081

cyclenum

4aY_coil6:cyclenum {run == 8297}

-106.8-
-107
-107.2:
BT R RRRTAEEEEEEEEE IEREEEEIEREE
-107.6
-107.8|
-108 - R R SREEEE [EEEEEEAEEEEE
11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum
4eY_coil6:cyclenum {run == 8297}
S O T e
7135.2:—
-136.45—
-136.65—
-136.8:— ------------------------------
—1375— ----------------------------
-137.25— >K
I IR B BTN DT BT

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

-425

-43

-43.5

-445

-36.5

-37.5

4aY_coil7:cyclenum {run == 8297}

cen vl Y I
11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

4eY_coil7:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum



-100

-150

-200

-250

12X_coilé
2]

75

6.5

55

12X_coill:cyclenum {run == 8297}

e e PR [A— -
. S . P e .-

11078 11078 5 11079 11079.511080 11080.5 11081
cyclenum

12X_coil6:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

12X_coil3

1oen_vuni

-520

-522

-524

-526

-528

12X_coil3:cyclenum {run == 8297}

L
11078 11078 5 11079 11079.! 5 11080 11080.5 11081
cyclenum

12X_coil7:cyclenum {run == 8297}

X

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

12X_coil4

8299

3298.5

8298

3297.5

8297

3296.5

8296

3295.5

8295

12X_coil4:cyclenum {run == 8297}

'l RS REEEE R TS SRR AT
11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum

run:cyclenum {run == 8297}

11078 11078.5 11079 11079.5 11080 11080.5 11081
cyclenum
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